
 Linear Equations and Functions Pre ʹ Calculus Review 

Assignment Handout Quiz Next Day! 

 

Name: ________________________         Date: __________________ 
 

Learning Goal 0.1 Expectations for graphing from previous years. 

 
Example Find the slope of the line. 

a.  Between the points ሺെʹǡ Ͷሻ and ሺ͵ǡ ͸ሻǤ b.  ݕ ൌ ͷ െ   Ǥݔ͵

c.  ݕ ൅ ͳ ൌ �െ
ʹ
ͷ
ሺݔ െ ͳͲሻǤ  d.  A line parallel to Ͷݔ െ ݕ͵ ൌ ͳʹǤ 

 
 
 
 
Example Find the equation of the line in slope ʹ intercept form. 

a.  Horizontal line through ሺെʹǡ ͷሻǤ b.  Through ሺͲǡ ͷሻ and ሺെͶǡെ͸ሻ.  

c.  ݕ െintercept of ʹ and perpendicular to 
ݕ ൌ ݔ͵ െ ͷ 

d.  ݕ െ ͳ ൌ
ʹ
͵
ሺݔ ൅ ͻሻ  
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 Linear Equations and Functions Pre ʹ Calculus Review 

Assignment Handout Quiz Next Day! 

 
Example Find the equation of the line in point ʹ slope form. 

a.  Through ሺെͶǡ ͷሻ and ሺെʹǡ ͸ሻǤ  b.  ݔ െ intercept of ͷ and parallel to  
ݔ͵ െ ͷݕ ൌ ͳͷ 

 
 
 
Example The sales of a small company have been growing linearly with time.  The sales were ̈́ʹ͹�ͲͲͲ in its 
second year of operation and ̈́͸͵�ͲͲͲ in its fifth year. 

a. Find an equation to represent the sales, ܵሺݐሻ, as a function of time in years, ݐ, in point ʹ slope form. 
 
 
 
 
 
 

b. What will the sales in the company͛s seventh year? 
 
 
 
 
 
 
 

c. How many years until sales reach ̈́ͳͲͲ�ͲͲͲ?  What assumptions are you making? 
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